Oltoromin €7 ANYaoy
2y |5 /22

OMADdA A

BT At K

Az 7T Ay B

Az A

WARZ2WA

As 45

OMAA & KX

2 KOND  TEN. 223 -2949

OMA DA

(6")_} 2Dr = Pa@a~s Oa= T
]

%S -~ 2000z - SO0o

i 46 ——
@@'C7:“l“3 (QF—S\OO .L‘lo" il - \D(-BADO }4/\2( ol
s So-to Yoo § 4S9 x
Q = oo g
______é#_cb..z) =2 GR30-UTI . 13w ) Y'?.:\*S‘(\g
N+ -1300 G IO ===
[69 S KoMty
5K, CA. 3T
\—‘ Q
__@ IDA= P4 x= L0000 7 AD 57249601
eNC= P Or= 90 cov \3 i :
f‘ff’_’f Ay = Wooo 1Yo TCewe
Y 0 H ¢orl+

Scanned with CamScanner



«&‘@) MEesik doeey A M Too ALEAN S A /I\ Y \

AVCa0a= V(o 5 JVChre= 190 - Joo  Fovoo €

Jo00o

] 5
Goo Mer s o'~ Opa2y/ O ~
‘ Go's gav dg ~oq 258 (10000 )
v r [ (7 7
(-QO/: QVOOO
s P
2
g DAMADA
‘f’ =
b = b 80,0y
P [A JJ P=AMC Q V € Ec
p N
p | o Joo Jo00O |0vo
; 50 looo  1rSess loos
) 2,00 \ 300 1" ovo | oo
'r ZAYs | Go O 2Stouo (Vo O
:
v
)

/(./((.)ooo:;— V(oo ~-200090 —~» VGuooe= |ITO0OO
20

MCI’GOD =, V( oo - MToog ) VC\?QO: (25000
— 09D

MUeos = VG- 115000 =2 VG b =250009

200

€xe  [135.9%0- 20cou: 455 ovo = VCx

L MC = 200 ~ 177000 15To0e  — Ww_
& kel g8 x= 200
Ala__If nagagzcb MO Y a1 =
bt 1300 1200 ~ 190 AR wADET

Scanned with CamScanner



%'b) (Qs =4»+5 \O

=g

Yov = ¥ +\00\J\ /7@ —'309(: -\ g'm'v S:G

looy = e 1350 5

X2 700 -foo= 100

NS

A7

Arowith t Q= tovie Y

AColpn \o-C9>= lo-(mo—%ﬂ*— [ooo «-Gof\>

(\/‘_’5/ &o-—@):%@ao—w@:t [V 4 (\D?o ~)
Ro lo = 37208 ~
PD — 40
(Qo’-: 3490

4‘-{3

e @p-@;:d&oo ~ Q’LOO—'Z,D?- 10073—(;0?:/\800 =D

P=131 5 €

?:'\'}.“f < ?o

A0 i il P (dimuwere)

Cle M QREEINAN 1Y) phanan =t

PEVC
(000 160.Gox 4¢q0 | OrtwammazA€oo (1o,

(,/)_*.T/ —
D’ff_@‘ 4209 - 20-60= 2000

iC— ‘_Ptﬂb = 60-(«(600227—@0066

Ut haerer /S T~ L ¥ancg
._—’\ / el
21(. QD'; Pt(tﬁs-(po):
¢ol-3000c 800® O € Co. V6oo = GQ6.000 €

Scanned with CamScanner



